H £ 0l & AF & S

Al A

FA: Aot AE A
S A 2 32
el ARz EER=E)
SA - ZE - B2A(30) - HRA - B of v e HIDE2
Aot=EAI A 41,482,413 24,710,99% 16,771,418
= 19,713,000
== 7,648,000
[Ea 14,121,413
e 2 sl 2kl 26,050 15,700 10,350
EAr2el 26,050 15,700 10,350
AR 2tel 26,050 16,700 10,350
201 et23| 15,000 15,000 0
02 S3=gl 15,000 15,000 0
OFA € 253 FAlZc| 15,000
405 AtatE = 11,050 700 10,350
01 M ESFH =S| 11,050 700 10,350
ORI U 2F FHSH 11,050
SENE R
1,500,000 *1JHK 1,500
Oud 228 oXt 150,000 *7H 1,050
O=24 u=sE 8k 250,00021*10H 2,500
O=E4 u=sg 2k 150,000 *40H 6,000
s 2tel 6,464,671 7,885,371 1,420,700
= 4,120,000
o 2,344,671
N E HEY 52 5,570,000 6,948,000 /1,378,000
s 3,885,000
s 1,685,000
SHEUES SN (YETT) (HEAY) 1,070,000 1,070,000 0
[ 910,000
Ea 160,000
401 Al HIZL S 0HYI 1,070,000 1,070,000 0
= 910,000
= 160,000
01 Al&H| 1,070,000 1,070,000 0
OB EXIT XIgat+E SHEAI(HE) 1,070,000
= 910,000
[Ea 160,000
SHEUE SN (REXT) (HEALY) 1,000,000 1,000,000 0
== 850,000
o 150,000
401 AIEHIZ SR HYI 1,000,000 1,000,000 0
[ 850,000
T 150,000
01 Al&HI 1,000,000 1,000,000 0
ST 7 N SIS (HE) 1,000,000
= 850,000




FA: Aot AEA
eLI PN ]
CHel: ZOUT|YALTO| N 22 (e &8l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 150,000
SHEYSEHL(LSXF) (HEAIY) 2,000,000 0 2,000,000
== 1,700,000
[Ea 300,000
401 Al HIZL S 0HYI 2,000,000 0 2,000,000
< 1,700,000
s 300,000
01 Al&H| 2,000,000 0 2,000,000
ONSXIF Xga=E SHAIL(HE) 2,000,000
= 1,700,000
o 300,000
SHEYSESFHL(SSXF) (HEAIL) 500,000 0 500,000
=S 425,000
s 75,000
401 AIEHIZ SR OHYI 500,000 0 500,000
< 425,000
[Ea 75,000
01 Al&HI 500,000 0 500,000
O8SXF Nga=E HFAH(HE) 500,000
== 425,000
= 75,000
Ngaf=c SHAL(ATRL) 1,000,000 1,000,000
401 AIEHIX R0 1,000,000 1,000,000
01 A28l 1,000,000 1,000,000
Ox=0t2 NEa=E SIAY 200,000
OF =0t N2 SIHAY 180,000
OgullE Nga+E SAFAIY 450,000
OYLElI=s Nga+t A 200,000
SHENG s A8 52 894,671 937,371 A42,700
= 235,000
o 659,671
AR A8 2 140,371 140,371
201 fer= 3| 137,371 137,371
01 At 2|l 137,371 137,371
O+=ZZAHI 137,371
OXIots=@ =2 A (110H& =)
89,2503 * 158K A 14,102
OAZ=J = A (BIHESF)
45,0002 x 1574 2+23] 1,350
OAZJA =2 AHH(DNE2)
318,250 1504 A 4,774
OOt2& = A (5801E =)
375,800& x 15804 A 59,377




FA: Aot AEA
ma: AaT
el sOHEXNGNEYSE AEH 55 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oltsat=EZAHI (1418 =)
75,5702 158 A +33] 35,821
Ol 4+=C Al (BEg =)
53, 1403 %1430 A+23] 15,199
Ot H A (RetsEs)
1,270 #1430 2:%42] 6,447
OA=EHZZAHI(7THES)
30, 100& *27H 2~ #52] 301
206 M=l 3,000 3,000
01 b 3,000 3,000
ODISAN4EHEAAE SRU+Y 7Y
100,000 x202 A 2,000
Ol AsAETY 1,000
A2 TAIENESAS 170,000 200,000 230,000
401 Al HIZL 048I 170,000 200,000 230,000
01 Al&HI 170,000 200,000 /30,000
OATAZF=TAIE HEFAS 70,000
OAarl==ZAlE HEFAL 50,000
Ozdits 3= JHIME 20,000
OZ==&Hl FXlZel 100,000
AR S5 L25 AIE AL (HEAIY) 300,000 286,000 14,000
= 210,000
= 90,000
401 AlEHIZ 2 0HbI 300,000 286,000 14,000
= 210,000
[Ea 90,000
01 A28l 300,000 286,000 14,000
OAABS=EC-ZSAIE NSAI (X EH 300,000
s 210,000
s 90,000
AR E AL RS2 ALY 83,300 110,000 A26,700
& 25,000
= 58,300
401 Al HIZL 201 83,300 110,000 A26,700
= 25,000
o 58,300
01 Al&H| 83,300 110,000 A26,700
OAxTZ2ETAIE AS2ACIANY 83,300
S 25,000
o 58,300
Mg olmet(Mess) (HMEAY) 200,000 200,000 0
401 AIEHIZ SR 0HYI 200,000 200,000
01 AlZHI 200,000 200,000
O=EsY WES HLAMA(HE) 200,000




2A:
PSER
o e

el

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

1,000

1,000

1,000

1,000

1,000
1,000

1,000

0

0
el
>
Hn
o
ol

MW

29,383,117
19,713,000
3,528,000
6,142,117

11,389,610

17,993,507

o= 2l & A

MW

20,599,000
14,419,000
3,086,000
3,094,000

7,376,000

13,223,000

ol
4>
H
10
x
>
Ho
r

! Zel(soHE0S6t S ) (B YY)

Mo W

3,716,000
2,601,000
557,000
558,000

480,000

3,236,000

401 AIZHIZ 20

H H W

3,716,000
2,601,000
557,000
558,000

480,000

3,236,000

01 Al&H|

oFZ=s0E0Sot=E4d

At

ﬂ

OBZs0E0Sot=Z 4 XIAIY 2eld]

HH W

HH W

3,616,000
3,616,000
2,531,000
538,689
546,311
100,000
100,000
70,000
18,311
11,689

405,000

75,000

3,211,000

25,000

ol
124

Co AX L 22 (=sH=0I25=S = HI) (FOAKIE
)

o
=

HH W

2,000,000

1,400,000
300,000
300,000

2,748,000

AT748,000

401 Al HIZL S 0HYI

HoH W

2,000,000
1,400,000
300,000
300,000

2,748,000

AT748,000

01 AlZHI
OFPAXI oS =

E0IS51+ =X

Mho

1,899,000
1,899,000
1,330,000

285,000

2,345,000

A446,000




2A:
PSR
ool

o1 0 0
3 08 o
2 0
0y 41
0 H1 >
QR

i
S b

=
R

SA - FE - SRA(3H) - MRAE - BES

Ofl &F2H

MEE
Ofl &k2h

02 Zeltl
OFDAXIZoi s EOISot=E &R

03 Al = THHI
OFDAXIEHE = E=DISot= S & X 21|

H

MW

284,000
100,000
100,000
70,000
15,000
15,000
1,000
1,000

400,000

3,000

300,000

A2,000

CEX
St=Eo #X & 2e(sHEOSS+=SEHI)(Z2EH)

HoH W

8,097,000
5,668,000
1,214,000
1,215,000

568,000

7,529,000

401 Al HIZL S 0HYI

MW

8,097,000
5,668,000
1,214,000
1,215,000

568,000

7,529,000

01 AlIZHI
OStHsHE0tSot==4 XM

02 Zeltl
OZBtHsHEDSot=EXAE Zld

MW

MW

7,897,000
7,897,000
5,528,000
1,184,000
1,185,000
200,000
200,000
140,000
30,000
30,000

493,000

75,000

7,404,000

125,000

St X & 2el(sHEOSo+=Z8HI)(8=)

MW

5,544,000
3,831,000
831,000
832,000

842,000

4,702,000

401 AIEHIY 20

Mo W

5,544,000
3,831,000
831,000
832,000

842,000

4,702,000

01 A=l

OZZ=s0E0tsot=E4d

At

ﬂ

02 Zeltl

OZZ=s0E0tSot=E4d

At Zeltl

ﬂ

H H W

hoH

5,344,000
5,344,000
3,741,000
801,000
802,000
200,000
200,000
140,000
30,000

767,000

75,000

4,577,000

125,000




S AHEEAA
u: BBoISE 22
s ol=XCIEAISE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 30,000
slecol X Y 22(S0ENS SHTEBIANY)(S 215,000 568,000 353,000
3)
2 150,000
= 3,000
2 33,000
401 AIZHIZ ST 215,000 568,000 353,000
2 150,000
= 3,000
2 33,000
01 A&t 215,000 568,000 353,000
OFS=0E0ISTI+E LAY 215,000
2 150,000
= 3,000
2 33,000
6+)¢59| S o 2(S0IEDE ST HYIAN) (4 218,000 230,000 A 12,000
(=]
2 153,000
= 32,000
2 33,000
401 AlEHI L2 O] 218,000 230,000 A12,000
2 153,000
= 32,000
2 33,000
01 A&t 218,000 230,000 A12,000
NS =0 E0ISTI 4+ T LRI 218,000
= 153,000
= 3,000
= 33,000
6+)¢59| gx 2 22(SOHE0E ot+=S8HIAI) (8 143,000 230,000 87,000
~
2 100,000
= 21,000
2 22,000
401 Al£HI L2 O] 143,000 230,000 87,000
2 100,000
= 21,000
2 22,000
01 A&t 143,000 230,000 87,000
OBH =0 EISII+THIIAY 143,000
2 100,000
= 21,000
2 22,000




SN ABHE AL
HH: 2T[oLC B2
s ol=XCIEAISE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHEOl HX W B2l(S0EDIS SHTHHIAR) (S 237,000 230,000 7,000
)
2 166,000
= 3,000
2 36,000
401 AIEHI LS TH| 237,000 230,000 7,000
2 166,000
< 3,000
2 3,000
o1 Al=t 237,000 230,000 7,000
OBHSUENISIHH LRI A 237,000
2 166,000
< 3,000
2 36,000
St=ol AR & 22l (SR S-S HHIAY) (F) 429,000 715,000 286,000
2 300,000
= 64,000
2 65,000
401 A& Bl L= ThY| 429,000 715,000 286,000
2 300,000
= 64,000
2 65,000
01 Alt 429,000 715,000 £.286,000
OBABIHIGI M FEXI A 429,000
2 300,000
= 64,000
2 65,000
St A 8.211,000 3,583,000 4,628,000
2 5,204,000
= 442,000
2 2,475,000
SIS HUIAY 50,000 50,000
T EEST] 50,000 50,000
01 Alt 50,000 50,000
CELL LTV 50,000
SteEol HX 2 BRA(SAEAUE) 4,675,000 1,025,000 3,650,000
2 3,272,000
2 1,408,000
401 AIEBI L2 TH| 4,675,000 1,025,000 3,650,000
2 3,272,000
2 1,408,000
o1 Alt 4,475,000 922,000 3,553,000




FA: Aot AE A
Hu: 2oolLT 22
Rl ol AL (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&stAot=EguI S 2N S B0
ALY 4,475,000
= 3,132,000
Ea 1,343,000
02 Zeltl 200,000 100,000 100,000
Ot HuISE 22 NS B0
A Zeld 200,000
= 140,000
Ea 60,000
Sh=Eo AX ¥ 2el(HF o228 HIFH]) 683,000 612,000 71,000
= 478,000
< 102,000
[Ea 103,000
401 Al HIZL S 0HYI 683,000 612,000 71,000
= 478,000
=S 102,000
s 103,000
01 AlZ8| 683,000 537,000 146,000
ONFEHGH==2tH2E H Z AL 683,000
2 478,000
< 102,000
2 103,000
Sl=Gol HXl U 2A2(5IEH0 ot 282 FHIA 1,082,000 543,000 489,000
o)
= 723,000
= 154,000
o 155,000
401 Al HIZ R 0HHI 1,032,000 543,000 489,000
= 723,000
= 154,000
Ea 185,000
01 A28l 1,030,000 543,000 487,000
O3 ot HOt+=2AZ 2 A ZHIA 1,030,000
= 723,000
= 154,000
= 153,000
03 AIZSTHYI 2,000 0 2,000
O3|5tHol+=2Z2 HIEBIAIE 20U 2,000
StaEol #X ¥ 22l(DES NBXT GHEE B 742,000 653,000 89,000
Ared)
= 519,000
= 111,000
o 112,000
401 AlZHIZ SO 742,000 653,000 89,000




FA: Aot AE A
Hu: 2oolLT 22
Rl ol AL (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 519,000
=S 111,000
s 112,000
01 Al 742,000 653,000 89,000
OLEg X ot=22 HHIALY 742,000
= 519,000
= 111,000
Ea 112,000
St=Eo AX & 2e(ZAIEUS)(HEXIF) 500,000 500,000
ECEESTT 500,000 500,000
01 Al 500,000 500,000
OHIEXI P 5I-C MU ZE 22| X A &40
Ared 500,000
Slagol HX U 2E(DES LBE42E HUT 154,000 0 154,000
g2)
= 77,000
Ea 77,000
401 AIZHIX S0HH 154,000 0 154,000
= 77,000
s 77,000
01 AlZ28| 154,000 0 154,000
Olds Fotr2z Y 9 154,000
= 77,000
[Ea 77,000
St=£o AX ¥ 2/ (DHS Fot+22 FHI) 375,000 0 375,000
= 225,000
== 75,000
[Ea 75,000
401 AIEHIZ R 0HYI 375,000 0 375,000
= 225,000
=S 75,000
s 75,000
01 A28l 375,000 0 375,000
O1ds t=otr-22Z FHISA 375,000
= 225,000
= 75,000
Ea 75,000
ol=2d E 2l 573,117 430,610 142,507
DEMENS S 22l (WEX AL X2IAY) 221,843 210,266 11,577
101 21AH| 84,648 80,492 4,1%
M ORNZZ2NSE S 84,648 80,492 4,1%
OLNHYEsis2 2dacl 22X 2] 75,427
oJlzs 2,010,580« 128 +2& 48,254




2A:
X XH -
o e

=aak

MBSt AT A
2stac 2
+T29 o A

M- -E - B2A(E) - AIRAY - B of e A
Odxt=g 76,9602 x 112+ 1,694
OAlZRIZ2 &

9,620 & *1.5+8A| 2H+527=+2H 12,006

o4l 282 61,954,000 *13% 8,055

O&X =g 76,9602 302! » (365/365) x2H 4,618

OLul=H| 200,000& x2E *22] 800
OUIF & el2b|

163,670 x32 +53|x4&H 9,221

201 fer=3| 137,195 129,474

01 At 22|l 32,760
2ot 2H| 32,760
OAREE 7Y 100,000& «12& 1,200
OELIETI-CE -]

30,0002 1284 1,560
OFIIOHBRIHH LSS
260,000 * 122 3,120
OXPIEEIIEH JIBAe==2
600,00021*13] 600
OsYlgE BB S22
130,000& * 12 1,560
OS2I EINAAS 2R
200,000 %12 200
Ot Ze wet
80,0002 *6CH*13 480
Ozt 228 7 100,000& * 12 1,200
Od+=+g 70,0002 123 840
OFA EAES 78 100,000& «12& 1,200
OEE= H& 7Y 1,000,000 %12 1,000
O0F i 24 1,650,000& «12& 19,800
02 S3=4gl 104,435 104,014
0332 € MAl 68,420
(OFSPIes= 5,500,000& «12& 66,000
Odote=ER= 150,000« 12& 1,800
Odlgt 2= 35,0002~ 12 420
O&J|IHME 2] 100,000 12 100
OA NS 3] 100,000 12 100
og=zh| 210
Ol &g &II(ER) 1,800 60 £ *12] 108
oolFEDIE dg F(LR)
1,700 60 ¢ 102
OO0AAIEEH|l =AY 35,805
Ostdd ?ld =Xl2el S99l
200,000 * 122 2,400
OAEE =2y 1,300& *1,465m" 1,905
OJIA & MI1&dl =Al2eldl 3,000




FA: Aot AE A
Hu: 2osl4T 22
&l G2 & 22 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—AUXHES € 2SS |2
100,000 = 10H 1,000
~®IIAL SR
80,0002 *5IH*55 2,000
O===2 RA&el 28,500
—=AZc S 1,666,606& * 12 20,000
—=52 RFL 2,000,000 22 4,000
—EI&H| =Xl 500,000 =4CH 2,000
—==2 24| |X2c 1,000
—Ag0E |2
500,000 374 2 1,500
nd=gulsgny 2d2d 94,793 113,444 18,651
101 @124H| 4,150 3,901 249
MU IIRINZZENSES 4,150 3,901 249
OUIFH&L el2b|
163,670 x32*33]+3H 4,150
201 et 3| 69,643 69,643
01 At22t2l] 10,520 10,520
oggt=ZH] 10,520
OEEH+5 150,000& «12& 1,800
O&gt 2|l ===
600,000 * 12 7,200
O ZEe{w et
80,0002 *4CH*13] 320
Otad 2258 7Y 50,000 * 122 600
OF2ES 7Y 50,000& * 122 600
2 s5=34l 59,123 59,123 0
0332 € MAl 48,560
O™IIRa(S1Y) 2,500,000 128 30,000
OHMIILSB(MY) 1,100,000& x12& 13,200
Odote=e= 100,000& «12& 1,200
Ostlsgud YRS
80,0002 122 960
oelgues 50,0002 122 600
ORTC H83d IHURS
200,000 * 122 2,400
(OFSPJRIFSE=:oila] 100,000 12 100
OA NS 2] 100,000 12 100
OAIE2&EbBI= X 10,563
Od===Al2el 1,300 x433m’ 563
Od=+dii=8E FA2e|
500,000 +2CH 1,000
OE=8=E [YLH|l 72
1,000,000 *3CH 3,000




FA: Aot AE A
3 S3ot= 2el
2ol o2 & 2el (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OPLCEAZ AL |XI2el(0153)
1,500,000 x22| & 3,000
ORZII 8012 44
1,000,000 *3CH 3,000
401 AIEHIZ SR OHYI 21,000 39,900 18,900
01 Al&HI 21,000 39,900 18,900
O==guls8Zd ANdE S22 21,000
OetdxIEt 21t AIE=2 2= SA
21,000,000& »14] 21,000
DgdEsts2 AIEHA 182,000 106,900 75,100
401 AIZHIX S0HH 182,000 96,900 85,100
01 AlZ2H| 182,000 96,900 85,100
OO0k OtLY SEAE EXISA
21,000,000 *14! 21,000
O&U QHICIN ==AIE IHESSA
21,000,000 * 14| 21,000
OZaIl Z28 F20lE SA
20,000,000 x 14 20,000
OHEZA HEalx ATHSA
20,000,000 *14! 20,000
OREH W FAS2E EXISA 100,000
E=AE 29 74,481 74,481
101 @124H| 67,111 67,111
03 SR (RINHA) 222+ 67,111 67,111
OF=AE SHSFH 2= 67,111
OJl==2(338) 3,185,520« 123 38,227
OS=g2=¢ 150,000& «12& 1,800
O &g 140,000« 12& 1,680
O%Ig+g 100,000& ~ 12& 1,200
ou2rs| 50,0002 12 600
Ogs2d=¢ 145,350 122 1,745
SRS
3,770,870 /226%1.5+8+525+ 10,412
OJE+¢ 40,0002+ 12 480
Odxt=& 3,770,870& /226+8A1 2H+20 2,670
oga+¢ 3,770,870 x50%*22] 3,771
OEZEFIH| 3,770,870 x60%*22] 4,526
04 HSRESS 7,370 7,370
4 BRA(RIHA)22N BEERES S 7,370 7,370
OF=AE #3578 224 2E8aFE= 7,370
ONEZEERE= 67,108, 1702 *1.8% 1,208
(@FageaP\ o) k== 67,108, 1702 *0.982% 660
O=2A=2g=2 67,108, 1702 *4. 5% 3,020
O=tAZEg= 67,108, 1702 x3.495% 2,346
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2ot A Y

=R XH‘:'QFE( 8+¢5A+g¢)
Sl LRHHXIE (Yot A A) (SH9: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 SIIHEEIAN=2ES 1,000,000 1,000,000 0
O3S dEs(HEHXE) 1,000,000
OXlgats=E AZSEAS 1,000,000
FEANHELSAHNES 44,287 53,682 N9,39%5
701 JIEtI HSHES 44,287 53,682 9,395
01 JIEtI AN ES 44,287 53,682 29,39
O=ZNHSEIAHEES 44,287
OltsHISSot=MelAIE23H| 44,287
oS IESEIHTES 2,000,000 3,300,000 1,300,000
701 JIEtRI HSHES 2,000,000 3,300,000 1,300,000
02 2IIHEEIAHBNEES 1,000,000 1,300,000 300,000
OB BSLIANES(BEXE) 1,000,000
0B BVIEEEHNN=2HES 1,000,000 2,000,000 1,000,000
O3 IESEIANES(MHEXE) 1,000,000




